	Passive
· Doesn’t require  __________ 
· occurs because there is a __________  ________________
· movement is from ______ concentration to ___________concentration

	3 Types

1.  

	          Before


     After

      A

    B


A

B
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 SHAPE  \* MERGEFORMAT 
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molecules move to side ____ and become _________


	Active
· Requires  __________ 
· Movement is against the ____________  ______________, from ________ concentration to _______ concentration

	3 Types

1.   

	          Before


    After
      A             B


A             B
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 SHAPE  \* MERGEFORMAT 
[image: image4]
molecules move to side ____ and become more_________



